B AYKEIOY AATEBPA

Oétovpe omovx To 3x~1

P(x)=x?+2x-5 =  P(3x-1)=(3x—1)*+2(3x—-1)-5=
=P(3x-1)=9x* - 6% +1+ 6% —2-5=P(3x-1)=9x*>—6
To vo Bpebei o P(2X+3) Bétovpe oto P(X) odmov x o 2x+3
Apa P(2x+3) =~(2x+3)" ~4(2x+8)+1=((2x) ~12x+ 3" ) -8x-12+1=
=—4x* —12x—9-8x —12+1=—4x* —20x— 20
To vo Bpebeito P(X+1) Oétovpe oto P(X) dmov x 1o X+1
Apa P(x+1)=(x+1)" =3(x+1)" +3(x +1)-7 =
=x3+3x2-1+3-1-x+13—3(x2+2x+1)+3x+31—7=
=3+ 3K + 38 +1- 3 — p% —3+ 3K —4=Xx"~6
o P(2x+1)=(2x+1) —2(2x+1)-4=

=(2x)" +2-2x +1-4x—2-4=4x* + 4K +1- 4% —6=4x* -5

e 2P(x)= 2((x2)2 _ox? —4): 2(x* —2x* ~4) = 2x* —4x* -8
Apa P(2x +1)+2P(x2)+10:(4x2 —5)+(2x4 —4x? —8)+10:

= 47 54 2x* — 4xF —8+10=2x"—3



